)

§€2 (yv Z)

=0,2c¢(t)

2

dl

0 0 0
m’? (xaya th7 u) —b (t) 873/263 (y7 Z) - C(t) @g?) (yv Z) = 07 a (t) (&C’r] (%y, Z7tau)> u+ b (t)

0

0z

with (PDEtools, casesplit, declare)
[casesplit, declare]

with (DEtools, gensys)
[gensys]

(&1 (2,1), &2 (y, 2) , &5 (5 2) , &4 (B) ,m (2,9, 2, 1) ,a (1), b (F) , ¢ (2)]
alias (§1 =& (2,1),§2 =& (y,2),6 =& (y,2) & =& (t) ,n =n (2,9, 2, t,u) ,a=a(t),b=b(t),c = ¢
&1y §25 €35 €4y My @, b,
declare (& (z,1), &2 (. 2) , &3 (¥, 2) . &a (1), m (2,9, 2,8, u) ,a (t) ,b(¢) , c(t))
n(z,y,z,t,u) ‘will now be displayed as‘n
a(t) ‘will now be displayed as‘a

b(t

)
¢(t) ‘will now be displayed as‘c
)

4

will now be displayed as‘b

¢ (t) ‘will now be displayed as‘¢
& (z,t) ‘will now be displayed as‘¢
¢(y,2) ‘will now be displayed as‘¢
2
sys = [136 =0, du277 =0, 2-n=0,ci&H+ 5%53 =0,-&fe+2elé 246 =02 (L&) be-

2 2 3

W’? (xay7 Zat7u) )

32
ﬁ& (z,t) =0

82

%n ($7y7zvt7u) =0
62

8u8x77(x7y7zat7u) =0

c(t) %52 (y,2) +b(t) 6%53 (y,2) =0
_54%0()4-20()885 (y,2) — 2%51($7t)=0

3 (y,2) | b(t)e(t) -2 ﬁfz (y,2) ) b(t)c(t) —b(t) 5426(7?) +£4C(t)ib(t) =0
dy dt dt

0? 0? 0?
7b(t) 8y2§ (y, )+2b(t) 8u8yn(x7yaz,tau)70(t) @52 (yaz) =0
82 2 2

0
QC(t) 6uaz77(37,y72,t7u) - b(t) aiyzfi’) (yaz) - C(t) @63 (Z%Z) =0



3 63 3

0 0 0
a(t) (axn (x7yazat7u)> U+b(t) aTaan (xay7zat7u) +C(t> mn (x7y7z7t7u) + 577 (sc,y,z,t,u) + (x,y,z,tu) - O

923"

—€4%c(t)—6(t)%§4()+2C()§§ (v, )+c(t)3%€1(mﬁ =0

3
)+ ((0) 5o (@ zita) = e(0) 56 () +2a(0¢(0) (5800 ) u=u (a0 e = ) o 0) &4+

2 2
nops ([dd?& =0, =0, didu =0,cié6 + bd%fs 0,-&det+2cdes—206 =02 (L&) be—
11

restart

with (PDEtools, casesplit, declare)
[casesplit, declare]

with (DEtools, gensys)
[gensys]

[€0(8) 862 (y,2) .83 (y,2) . &a (8) 1 (2, 9, 2, 8, w))]
alias (&1 = &1 (1), &2 =& (y,2) & =& (y,2) ,&a =& () ,n=n(z,y,2,t,u))
1, &2, 83, &y m
declare (&1 (t) &2 (4, 2) , &3 (4, 2) , €4 (), (2, 2, 1, )
n(x,y,z,t,u) ‘will now be displayed as‘n
&(t) ‘will now be displayed as‘¢
& (y, )‘will now be displayed as‘¢

sysl = [dngl =0, duzﬂ =0, dzdun =0,c4& + bdy§3 0,—&age+2edés—216 =02 (L&) be

2 2

o 3
tau)_ciéé(yv )*0 2

0 0? 0? o o
Cauﬁzn (fE, Y % t7 ’U,) - b87y2£3 (y’ Z) - Cﬁfﬁi (ya Z) - Oa a (axﬂ (ZL’, Y, z, ta u)) U+ ba 8 277 (1' Y,z t, U)
SOZ = pdSOl’U@ (SySZ, [gla 52) 537547 7]])

ol {& = Clat+ C6,& = C2,n(z,y,2t,u) = C1,& (y,2) = —

0
0o

_C8bz

+ 05,83 (y,2) = C3y+04}

restart

with (PDEtools, casesplit, declare)

[casesplit, declare]
with (DEtools, gensys)

[gensys]

[51 (t)a€2(yaz)7§3(y’ ) 54() (ZE y?'zat?u) a(t)vb(t)7c(t)]
alias(flzfl(t)a€2:£2(yv )363*53&% )754*54@)’77:n(xay,zatau)va:a(t)ab:b(t)’czc(t



€1, 82,83, &m0, b, ¢
declare (&1 (t) &2 (y,2) , & (y,2) s €a () ;1 (2, 2,8, u) ya (8) , b (1) , ¢ (1))

& (
n(x,y,z,t,u) ‘will now be displayed as‘n
a(t) ‘will now be displayed as‘a

b(t) ‘will now be displayed as‘b
¢(t) ‘will now be displayed as‘c
&(t) ‘will now be displayed as‘¢

¢(y,2) ‘will now be displayed as‘¢

sys2 = [56 =0, 50 =0, 2mn =0, cLe+ble =0, —Gde+2cie - 226 =02 (L&) be
3

WU(

2 82 2

0 0 0
52 (y7 Z) = 07 QC(t) 8uaz77 (xaya Zat7u) —b (t) 87y2£3 (ya Z) - C(t) @53 (ya Z) = 07 a (t) (axﬂ (xaya thv u)) u+b (t>
sol = pdSOl’U@ (SySQ, [617 523 537 547 n,a, b7 C])

SC,y,Z,t,U)‘F‘

S (yaz)7£2(y7z) :52 (y7'z)a€3 (yaz):&i (yvz)}v [{51 :51754:£4aa(t) :O,C(t) :0’52 (y,Z) :/2%n(x7yaz7tau) dy+*F2(Z)y

restart

with (PDEtools, casesplit, declare)
[casesplit, declare]

with (DEtools, gensys)
[gensys]

(€1 (2,1), 82 (y,2) &3 (y: 2) . &a (1), (2, y, 2, T, w))]
alias (§1 = &1 (2,t) ,&2 = &2 (¥,2),§3 =& (y,2) , &a = & (1) ,n =0 (2, y, 2,1, u))
15 62, 83, 64,1
declare (&1 (2,1) , 2 (y, 2) . &3 (¥, 2) . €4 (t) . (2, Y, 2, T, w))

n(x,y,z,t,u) ‘will now be displayed as‘n
&(t) ‘will now be displayed as‘¢
& (z,t) ‘will now be displayed as‘¢
¢ (y, ) will now be displayed as‘¢
sys3 = [%gl =0, @n =0, %7} =0, ci@ + b%gg =0, —54%0 + 20%53 -2 %gl =0,2 (%53) be

2 2 2 2 3

0 0 0
',Z,t,u)—C@fg (yaz)_0720mn(m7yazat’u)_baiyzg3 (y,Z) _6@53 (yaz)_Oaa<axn(xayazatau)>u+ba a 277(x7y72at,u)+c
sol := pdSOl’UG (Sysgv [51762753754777])

t —1/2_Clac+ _C7,64=—-1/2_C1 (c+2)t+ _-C3,n(z,y,2,t,u) = _Clu+ _C2,& (y,2) = —1/2_Cly —

b_
6;4 : + 706753 (y,Z) = _1/‘



restart

with (PDEtools, casesplit, declare)

[casesplit, declare]

with (DEtools, gensys)

[gensys]

[fl (m,t),fg(y,z),§3(y, ) 54()

alias (& =& (x,t) , & = & (y, 2)

€3 =8 (y,2),860 =& (1)

a(t),b(t),c(t)]

n=n(z,y,z,tu),a=a(t),b

n(x,y,z,t,u),

515 527 537 647 n, a, b Cc

declare (& (z,t) , & (y,
n(x,y,z,t,u) ‘will
a(t) ‘will

(t) ‘will

c(t) ‘will
£(t)

‘will

now
now
now
now
(@) ¢
§(y,2)
0, =0

2
sysd = [5& =

2 2

57252 (yaz) = 072C(t) mﬂ (amy,z,t,u) -

82
b(t) 87253 (y,2) —

sol =

Z),fg(y, ) 54()

d2
’ d:vdu

e(t) L6 0.2
pdsolve (5954 ) [gla §27 537 €47 77])

n(@,y,z,t,u),a(t),b(t),c(t))
now be displayed as‘n

be displayed as‘a

be displayed as‘b

be displayed as‘c

be displayed as‘¢

will now be displayed as‘¢
will now be displayed as‘¢

00d252+bdy53 0,—-&fe+2edes—24¢ =0,

3

2 (qz6s) be
52

0
- O,G (t) (ax?? (‘rayvzatvu)) U+ b(t) Wﬂ (x,y,z;t,u)

sol = {51 =/a(t)701 dt +_C4,84 = 0,n(2,y,2,t,u) = _C1,& (y,2) = -C3, &3 (y,2)=02}



